
Encontrar el potencial de equilibrio de las siguientes soluciones, formadas por la mezcla de:

a) 10 mL de Fe2+ 0.15 M y 5 mL de Fe3+ 0.2 M





























b) 20 mL de Fe2+ 0.0015 M y 10 mL de Fe3+ 0.002 M































c) 5 mL de HgCl2 0.23 M y 5 mL de Hg2Cl2 0.23 M 










































d) 10 mL de HgCl2 0.0023 M y 10 mL de Hg2Cl2 0.0023 M 









































DATOS

Fe3+/Fe2+ Eo=0.77 V

Hg2 2+/ Hg 2+ Eo= 0.91 V



























